Installation Manual

Ford 351W Windsor Drivers Side Alternator Bracket
PFEABWINDO1

Smm Spacer )
(Optional For Correct Spacing)
4

38.5mm Spacer
\ /

7/16-14x 5.5" Cap screw Bracket
10mm Spacer

Smm Spacer
(Optional For Correct Spacing)

5/16"-18 x 3.5" Cap Screw
Through Water Pump

20mm Spacer For Late
Water Pump Only

3/8"x 1.25" Cap Screw |
With Washer/Spring Washer/
\ Smm Spacer

3/8"x 1.25" Cap Screw

Relocation Bracket/ { \
SOCdllon BIOLXe with Nylon Nuf \ 5/16-18 5.5' Cap Screw

\Through Water Pump

PROFLOW LIMITED WARRANTY

p“nFan,[nM.A“ This Proflow product is warranted to be free from defects in materials and workmanship for a period of one year from the original date of purchase. No
EMAIL: sales@proflow.com.au warranty claim will be valid without authentic, dated proof of purchase. This warranty is to the original retail purchaser and none other and is available
directly from Proflow and not through any point of distribution or purchase.

PHONE: 1300 879 879



